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(d) '1ft?1 

(d)  (c)RT 

(a) Leaves 

(c) Stem 

Part_I/flT1_I 
General Studies/ ltrq  .3; 

1. Who among the followii. was 
the Constitutional Advisor of the 
Constituent Assembly ? 

(a) B. R. AmbedkàrI 

) 
 (b)  B. N. Rao 

(c) Dr. Rajendra Prasad 

(d) Jawaharlal Nehru 

2. Who was the most impoiant minister of 

the 'Ashta Pradhan' of Shivaji? 

(a) Sare-Naubat 

(c) Majumdar (d) Pantht Rao 

3. Find the missing number in the 
following table. 

15 92 31 

25 102 26 

17 ? 19 

(b)fl2 

4. Which part of plant is potato? 

(b) Roots 

(d) Flowers 

(c) Contradictory 

(d) None of the above 

6. In which region has tlie Rain Water 
Harvesting and Distribution of Sprmlder 
Set Scheme been implemented? 

1(a) Bmidelkhand 1(b) Varanasi 

(c) Gorakhpur '(d) Kanpur 

1. i1iici qi f1%11T TT 5T  

iiiqR -1T ? 

(a) . 3W. 1SCb4. 

(c) . (i'I- T1T?. 

(d) i.iii 

2. 1Ic1i5fl '31w l-1H' r Ii- 

3. fii1iRci it1.uf 

15 92 31 

25 102 26 

17 ? 19 

(a)82 tEl 

(c)62 

4. 3T1 1 —T I1T1 ? 

(a) 'i1tiT (b) 

6. cIr11 4l41 3Th Ich Z Ici&ui 41'*ii 

(c) 

(a) 82 

(c) 62 

*2* 

(b) 112 

£èhwa f  

5. In business, profit and service motives 
are 

(a) Reciprocal 

(b) Complementary  I 

5. iciit 11 1 ii 

(a) iwik 

(c)  

(d) #lii 

(ID) cll&luI -fl 

(d) 



rr j (c) Ram Nath Kovind 

:1: 

9. With reference to India, match the 
following Acts with their yj and choose 
the correct answer using the code given 
below the lists. 

A. Wildlife Prot&tjon Act( 1. 1986 

B Environment Protectiom 2 2002 

Act 

Code: (a) A-2,B-4,C-1,D-3 

(a) 74 

(c) 19 

(a) 74 

(c) 19 

7. Indian Standard Time has been 
determined by which of the following 
meridian (longitude)? :  
(a) 82° 30' East longitude f 
(b) 81° 30' East longitude : 

(c) 84° 30' East longitude ) 

(d) 83° 30' East longitude 

8. Whose selected speeches have been 

published as a book titled "ioktantra 

Ke Swar"? 

(a) Deen Dayal Upadhyay 

(b) Atal Bihari Vajpayee 

(d) Lal Krishna Advani 

Act 

C. National Green Tribunal 3. 1972 

Act 

D Biodiversity Protecti 4 2010 

DVHJ— 01 

7. icli 1*c ii 1b'i J1t4i- (ii-i) 

RI tiTftr 1'ii 1•Rfl ' ? 

1(a) 82° 30' II-c1k 

(b) 81° 30' Il-d. 

(c) 84° 30' 

(d) 83° 30' 

8. 

"qcii " nr McbIIid IF1 

(a) 1i q1Ici qitr 
(b) 3T1 ii1 i'il 

J 
(c)R 1iig 

(d) ciii cr1 3i1,scllufl 

R51 R1Rs1i 

fii 

I 

A. 1. 1986 -iflci *Ti a1ifrri 

B. 4ci.ui iiiji 3T1P1 2. 2002 

C. ftr 3flFU1 3. 1972 

3Tf 

D. 2010 1 3T1b1 4. 

(a) A-2,B-4,C-1,D- 

1(b) A _ 3, B_ 1, C_ 4, D_ 21 
(c) A-1,B-2,C-3,D-4 

(d) A-4,B-3,C-2,D-1 

10 If79-2410,82-163and 

95 — 11 = 12, then 87 — 13 is equal to 

(b) A-3,B-1,C-4,D-2 
( 

(c)A-1,B-2,C-3,D-4 tI 

(d)A-4,B-3,C-2,D-1 

10. i179-24=10,82-16=3?1-lT 

95— 11 = 12*, 87— 13 I4JR 

*3* 
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(c) Chhau 

13. Which of the foliowing is NOT a folk dance 

of Uttar Pradesh 2  

(a) Charkula (b) Kathak 

(d) Nautanki 

J(a)183 I 
(c) 180 

15. If English alphabets are all represented 
by the successive piime numbers 
starting from then the value of the 
word JHANSI is 

(b) 177 
(d) t89 

(a) 183 

(c) 180 

(b) 177 

(d) 189 

(b) 5th 

(d) 7th  July 

(c) Mandalaylmprison 

(d) Ahpur New Central Imprison 

17 When is World Environment Day 
celebrated?  
(a) 5th  June f 
(c) '7tii  June 

11. Which acid is found in Milk? 

(a) Tartaric acid 

(b) Oxahc acid- 

1(c) Lactic acidTl 

(d) Sulfonic add 

12. The average of the first ten odd prime 
numbers is 

(a) 13.8 (b) 12.8. 

(c) 15.8 1 (d) 14.8 

14. Who among the following headed the 
Panel "One nation one election" ' 

(a) Yashwant Smha 

(b) Ranjan GGgai 

(c) Pratibha Patil 

1(d) Ram NatiTovind 

16. The imprisoi.hei'e Subhash Chandra 
Bose, Lokamanya Tilak and Lala Ljpat 
Rai passed their imprisoned life, was 

!& (a) Devali Camp Imprison 

DVHJ—01 - 

11. T e1.j—T 31J 'IR1I 

(a) .lTkc4, 3f 

(b) allct'IRlcb 

((c) i€cI3T1 

(d) r 

12. 311T1 '1P1 3T'TF1 i i1 3T?1 

(b) 12.8 

(d) 14.8 

13. rRi   ii ci'Iq 

(a)  

(c)  

14. rr1 c.i " H i H" 

(a) Icc1 fFi 

(b) R1ii 

(c)5rfT'ii1~.i  

j (d)rtTci1q'J 

15. 

cl1llclR Tl11 ic31 1k4ii 1  iiii, 
iq JHANSI'i R 

16. ki, 1'I, b1B1 I1cb 1%l1 
1I11I1'Il R aqRT 4-1 flci.j id1ci 

(a) 3!1ft l-L 

(b) &i ir 

J (c) iiuc 

(d) -ir 

17. 1ti 4Ic1kUI 1ET 1-11I1I 'IR1I t 
(b) 5ii 

(d) 7'ii 

(b)T 

(d) flcic1 

I 

*4* 

(b) Borstal Ithirison 

(a) 13.8 

(c) 7 



19. 
 2 1 

'iRx +—i= 19. Ifx+4=a2andx_=b,thenwhich 
x 

(a) a2 =b2 +2l 

oneof the following is correct? 

f (a)a2=b2+2  I 

lii 

A. Milets 

B. F ulses 

C Gram 

D. Tea 
(a) A-1,B-2, 

1. Protein 

2. Rabi 

3. Jowar and Bajra 

4. Plantation 
C—,D-4 

(b) A_3,B_1,C-2,D-4( 

18. WLiich of the following coal field is NOT 
spread in Damodar Valley? 

I(a)Tandoor •  

(b) Ramgarh 

(c)Girdih 

(d) North Karanpura  

DVHJ—01 

18. çI4lqI1d 

(b)  

(c) i- 

(d) rll cI*14J 

(b)a2  = b2  + 1 

(c) a2 b2 -2 

(d) a2 b2 -1. 

20. Match the following correctly. 

(c) A-2,B-1, C-3,D--4 
(d)A-2, B—i, C-4,D-3 

21. CôLsider the following wars/struggles 
and arrange them m correct chronological 
oider; starting from the earliest to the 
last 
I. Shaka — Satavahan war 

II. Yashodharman and Mihirakula 
struggle 

Ill. Ajatashatru. and Lichchhavi 
struggle 

IVtSkandagupta and Huna struggle 
Select the correct answer from the code 
given below. 
Code: 

J (a)JII, I, IV, II (b) II, IV, I, III 
(c) T, IV, II, III (d) II, III, IV, I  

(b) a2 b2 +1 

(c) a2 =b2 -2 

(d) a2 b2 -1 

20. i1i1  1 1ii cI1i I 

A. TZc 1. 

B. -li 2. 

C. ir (i) 3. ' - I 1Ics1kI 

D.11T 4 ift%O 

(a) A-1,B--2,C-3,D-4 

(b) A_3,B_1,C_2,D_4) 

(c) A-2,B—iC-3,D-4 

(d) A-2,B-1,C-4,D--3 

21. 1ird /4iP I1R %1T3R 

1  

M3T1 :. 

I. Icb—WdctI1 

II. T4T rii 1ii1i 

III. 31'lR1I 1T 114 t1 

IV. cbq 1TI 

..n.; i 

(c) I, IV, II, III (d) II, III, IV, I 

(b) II, IV, I, III 

*5* 



22. The maximum number of partners in 
a Limited Liability Partnership (LLP) 
firm is 
(a) 50 (b) 20 

(d) 100 

23. The United Nations Population Fund, 
in its 'India Ageing Report 2023' has 
projected that by 2025 the population age 
60 years and above in India would grow 
to the following 
(a) 138 MillionL (b) 128 Million 
(c) 158 Mi1hon( (d) 148 Milhon 

24 Which of the following is launched m 
February 2024ry the Union Health 
Minister? 
(a) AIIMS — SBI — Smart Payment  Cardj  
(b) AIIMS — SBI — Smart Health Card 
(c) AIIMS — SBI — Cashless Transaction 

Card 
(d) AIE]MS — SBI—Digitall Health Wallet 

25 Where is pharmaceutical park going to 
be located in UIZar Pradesh? 
(a) Ghaziabad (b) Prayagraj 

J  (c) Lucknow  1  (d) Noida 

26. HCF of two numbers is 16. Which one of 

the following can never be their LCM? 

(a) 112 (b) 96 

(c) 160 J  (d) 148 ( 

27. Which of the following district of Uttar 
Pradesh touches the boundaries of four 
States? 
(a) Mirzapur J  (b) Sonbhadra  
(c) Baffia (d) Chandauli 

28 In which year  National Committee of 
'Environment Planning and Coordination' 
was formed byJnthan Governmemt? 

(a) 1972 (b) 1985 

(c) 1992 (d) 1977 

DVHJ—01 

22. Mci I11c1 ift (-II1I1 1.b4 

3?P9H 'tth 

(a) 50 E1: (b) 20 

(d) 100 

23. c1 iiii  3P4t 'it  

f1r 2023' 31-IH 1Il1l 2025 

R?1t 60T.3Tf *11'1I 

1ccb'I rHrRd 

(a 138 IiIiii (b) 128 1iRii'i 
(c) 158cri*i (d) 148 

24. 1-iRiRi - 
icO 2024 1T fii 11T  

) (a) ti — I 

b) -3lT — %Tbl 

(c) 1-i — . L3it — tI.1 

(d) iij - - ii *%T 

25. r13 lbT-1L ? 

(a) iiiiiiç (b)  

(d) iu'si f (c) i-' 1 
26.  

ff 
iYcck 16 I 1-i1iRsci 

c.j— '1bt -tjv 

iq,cii 

(a) 112 (b) 96 

(c) 160 (d) 148 

27.  

ITb1I ? 

(a) 1i'iT 

(c) ,1i'i (d) 

28.  W1 RbR '41IcRUl RI 4tEI 

aft? 41cll' i1Ri T 

(a) 1972 (b) 1985 

(c) 1992 (d), 1977 
*6* 



29. The value of One Horse Power is 

DVHJ -01 

29. tc- i4 i Ft  

(a) 647W 

1(c) 746 WI  

(b) 1746W 

(d) 476W  

(a) 647W 

1
(c) 746W  

(b) 1746W 

(d) 476W 

30. If code of DELJi1 is CCIDD, then the code 

of BOMBAY will be 

(a) AMJXVS (b) AMIWIJR 

(c) AIJMJX (d) MIXVSU 

31. In which year, ti;e 'Right to Information 

Act' was passY 

(a) 2006 

(c) 2010 

(b) 2005 

(d) 2008 

32. Who among the following proposed the 

term Ecosysteth:? 

(a) Odum (b) Tansley 

(c) Charles E16h (d) Forbes  

30. -i1 DELHIT c CCIDDt, BOMBAY 

(a) AMJXVS (b) AMIWUR 

(c) ALJMJX (d) MIXVSU 

31. '1I i1 3Tf.TR aftdi' 1i mftr 

3lT? 

(a) 2006 1(b) 2005 

(c) 2010 (d) 2008 

32. 1111sd 1b 'i-jI1 

- 31IIIIc1 ii ? 

(a) 3it1 

(c) 'ITc-4 (d) '  

33. Where the first British trade factory was 33. 5T% C1NI1b bRHI 

established? 

(a) In Surat 

In Masulipâtnam I 
(c) In Hugh 

(d) In Madras 

34. List of Rubbeioducing States of 
Intha is given below. Choose the correct 

El combination as per production in 
percentage on descending order. 

I. Tamil Nadu:, 

II Karnataka 

III. Kerala 

IV Andaman and Nicobar Islands 

(a) III, I, II, IV( (b) III, I, IV, II 

(c) I, III, II, IV (d) I, III, IV, II 

34. 4l 

i cuç.i 1i1c1 1-II1 31*H& iI 

I. c1iI 

II. ctikc 

III.  

IV. 3i1H 3fr IR 14 

(a) 111,1, II, IV (b) III, I, IV, II 

(c) I, III, II, IV (d) I, III, IV, II 

*7* 



(a) 49 m2  

(c) 100 m2  (d) 4in2 
( 

(b) 36-iii2  

(a) Jaipur 

(c) Kolkata 

(b) NewDeihi  

(d) Lucknow 

40. One rupee note is issuedly which of the 

following? 

(a) Reserve Bank of Inch  

1(b) Government,of India1 

(a) 492 

(c) iootft2  

35. 1 1iiq,i ri 54 , 31Ta 

tI: 734Tft1f4t  

(b) 3614 2  

(d) 642 

(b)3 

(d) f1i 

(a) viq 

(c) l.11i

39. .IRcfl.I ¶1 1If1cq 3-1T c  

1 -TT t? 

(a) 

(c) c1cttcii 

35. A rectangle whose perimeter is 54 m, has 
its sides respectively diminished by 7 m 
and 4 m, so as it becomes a square; Area 
of the square is 

36. Which sapling was planted on behalf of 
the Government of India in the G20 Tree 
Plantation Ceremony held in New Delhi 

I!I in October 2023? 

(b) Ahoka 

(d) Neem 

37. Fragrance and Flavour Development 

Center (FFDC) is established in Kannauj 

to evaluate the purity of:vMch oil? 

(a) Palm oil (b) 1'Vlentha oil 

(c) Soyabean oil (d) Rice oil 

38. In human body, kidney iSresponsible 

j (a) For excretion f  
(b) For nutrition 

(c) For transportation ofblood 

(d) For respiration 

39 Where is Indian Agricultural Statistical 

Research Institute located? 

(c) Central Bank of India 

(d) State Bank of India 

DVHJ—Oi 

36. 3ct 2023k R R-41 3I'iIiici G20 

iiii iiiil R?F ikcbR 't 3 

ci1.j —ii tjt iiiu 'TT 1T? 

37. 1i tdI T 1 4 jcfr  

 l- (FFDC) 

1TRT1TT? 

(c) 1iifli kt (d) ii ki 

38. -ii.i 1.s-fl .igi4I t 

(a) c1s1 Rit, I 
(b)  

(c) k  

(d) ci.1 

(b)  

(c) 31I 

(d) Iikcfl1 4c k 
*8* 

(c) Peepul 

40. t  r1TU ti1 iii iii' ' ? 

(a) 1Icfl'i frE , 

(d) iia 
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(d) 1998 
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Part - II/fl1T- JJ 
Agriculture IJ 

41. Match List - I with List - II and choose 
the correct answer using the code given 
below the lists., 

List - List - II 
(Cultivar) (Population) 

A. Hybrid 1. Homogeneous 
and homozygous 

B. Pureline " 2. Homogeneous 
and heterozygous 

C:' Multiline 3. Heterogeneous 
and heterozygous 

D. Open pollinated 4. Heterogeneous 
and homozygous 

Code:  
$(a) k-2,B--=1,C-4,D-3  I 

(b) A-3,B-C-1,D-2 
(c) A-3,B-2,C-4,D-1 
(d) A-4,B-3,C-1,D-2 

42. Consider the following statements with 
reference to NAFED: 
1. NAFED was established on the 

auspicioiii.ay of Gandhi Jayanti on 
2' Octobe', 1958. 

2. NAFED Was set up with the 
objectivelö promote co-operative 

K:.': marketing of agricultural produce to 
benefit thê'armers. 

Select the correct answer from the code 
given below. 

I(a)'Both 1an4 2 (b) Only1 
(c) Neither tpr 2. (d) Only 2 

Code:  

43. When was théProtection of Plant Varieties 
and Farmer's Right Act enacted? 

(a) 1995 • 2001 

(c) 2011 (d) 1998 

44. Form of water preseilt in the soil'which 
does NOT move with gravity 
(a) Capillaryater 
(b) Hygroscpic water 
(c) Gravitational water 
(d) None of these  

41. q4l -I- - II i1d c4;r1LT 

J
(a) A-2,B-1,C-4,D-3 1 
(b) A-3,B-4,C-1,D-2 

(c) A-3,B-2C-4,D-1 

(d) A-4,B-3,C-1,D-2 

42. R1 1-J1i %TRF 

1. iibs t %Th1RT 2 3ictk, 1958 t 

2.  
frr. ¶1 41 ' 1biU UH t 

1'S 

(a) I l 2 'J (b) 1 1 
(c)11R2 (d)12 

43. T 3TR TUT 3TT1PT 

rITRlT%1T? 

(a) 1995 

(c) 2011 

44. f . i- i.fl i TT 
1dI 

(a) 1tci *i 

I  (b)31TJ  

(c)c1IctuI '11 

(d)  

*9* 



45. Match silkworm with their host plants. 
A Mulberry silkworm 1 Ricinus 

- -TCO17:rnUnjs 
B. Tasar silkworm 2Téthiinalja 

arjwna 
C Muga silkworm 3 Machilus 

barn byciana 
D. En silkworm 4. Morus spp. 
(a) A-2,B-1,C-4,D-3 
(b) A-3,B-2,C-1,D4 
(c) A-4,B-2,C-1,D-3 
(d) A_4E-2;c_3,D_1 -:j 

46. Calcium silicate contains % 
silica. 
(a) 21 (b)11. 
(c) 41 (d) 31 

47. Match List - I with List - II and choose 
the correct answer using the code given 
below. 
Match the following GI Tagged Mango 
varieties: 

List - I .LisI: II 
A. Alphanso 1. Bih 
B. Fazli zardalu 2. MahIkashtra 
C. Lakshman bhog 3. Uttar Pradesh 
D. Langda 4. Gujarat 
Code: 
(a) A-1,B-2,t--4,D-3:, 

I (b)'A-2B_I,(J_4,J)3( 
(c) A-4, B-3, C-2, D- 1 
(d) A-3,B-4, C-1,D-2T- 

48. First All India CoordinateclResearch 
Profect (AICRP) was initiated in 1957 in 
which crop? 
(a) Rice (b) Wheat 

1(c) Maize (d) Pearl Mfflet 

49. Nano DAP contains nitrogeiand 

phosphorus respectively 

DVHJ-Oi 

45.  

A. cji i'i 4k 1. J1 

B. 1W).iii k 2. dflRiq, 3#IT 

C. T)ii  cg 3. ')Iii 

D. iii 4k 4.  4'Th 

(a) A-2,B-1,C-4,D-3 

(b) A-3,B-2,C-1,D_4 

(c) A-4,B-2, C-1,D-3 

1(d) A-4,B-2,C-3,D-1  $ 
46.  rr r1 %t 

'1Ic1II 

(a) 21 1!! 

(c)'41 

47. fl —I-II rTT.fl 
I 

'11d 1sIL: 

ft-I ft-II 
A. ici'.iI 

B. ift 1kqlc 2. 4J 

C. rUir 3. irr 
D. 4. iii 

(a)A-1,B-2,C-4,D_3  
(b) A-2,B-i,.C-4,D_3 $ 
(c) A-4,B-3, C-2,D-1 
(d)A-3,B-4,C-1,D_2 

48. a1r rrft  j 

(.3rft.amtfr.) 1957 1hi ••  
ft? 

(a) icii (b) 
(d) ii-ii 

49. bHI: -II*I 3f  

J(d) 31   
(b)11 

(a) 16:32 (b) 8:16  
(c) 8: 12 (d) 18: 46 

(a) 16: 32 
(c) 8: 12 (d) 18: 46 

*10* 



50. 

DVHJ—01 

W -3Ii adc1ci.i qj *? 

(a) ift Hii1c1 (b) &. *1T 

(d) l. li (c) jj•: i;ki.i.i 

51. 11W cbI45b1 Ic1 1 

t iJrif 1R 1I '1IdI '1 1I1 c1I 

(a) 69%;  (b) 2-6% 

(c) 11 - 13% (d) 9 - 11% 

52. IIH 1I4 rfir ii1ic 

(b) . 3j fli 

(c) . 
(d)  

53. 1HR1Id c4.j— 11iI T MbR 

(a) IRT 

(b) %TTf  

(c) 3T1iT1iR 4I1V1I 

(d)  

54. J+ i   %11 f1H 4i1 i 

(a) A-4,B-3,C 

(b) A-1,B-2,C 
(c)A-1,B-3, C 

(d) A-4,B-2,C 

-2, D -1 
-3,D-4 
-4,D-2 
-1, D -3 

55. 60001 £l1c.4. P5i' ttbI 1'L91I 

1 I uI.1I 41 60 x 25 41 3 

TT* I 

(c) 6000T 

(b) 60000T 

(d) 25000T 

50. Who is the father of Co-operative 
Movement imlndia? 
(a) G.Marsh1 (b) J.K. Mehta 

)(c) F. Nicholscn f (d) A. Smith 

51. In Soil Cone ation Program, contour 
bunding is d6he where land slope 
having 
(a) 6-9% 
(c) 11-13%- (d) 9-11% 

52. The scientistssociated with laws of 
inheritancer$  
(a) G. J. Mth1dël 
(b) D. I. Meideleev 
(c) J. W. Dobereiner 
(d) None of these 

53. Which of thfollowing is NOT a type of 

Utility? 

(a) Time Ubilhly 

b) Place UiJty 

(c) Iossession 1tiity 

t(d) Farm Utifity 

54. Match the following National Research 
Centres witli;their location. 

A. Citrus 1. Nagpur 

B. MushroOm 2. Solapur 

C. Grapes '- 3. Solan 

D Pomegranate 4 Pune 

Code: 
(a) A_4,B-3,C-2,D1 

(b) A-1,B-2,C-3,D-4  

1(c) A_1,B-3,C-4,D-2  ( 
(d) A-4,B-2,C-1,D-3 

55. Calculate plait population of maize in 

6000 m2  area, if it is sown at a spacing 

of 60 cm x 2im. 

(a) 40000 plailts (b) 60000 plants 

(c) 6000 plants (d) 25000 plants 
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56. Which operation is especially used in 
chickpea? 
(a) De-suckerig 

J (b) Nipping_

(c) Clipping 

(d) Propping 

57. When first Krishi Vigyan Kendra (KVK) 
was established in Puducherry? 

(b) 1972 

58 Purple blotch is a fungal thsease of which 
vegetable crops? 

SE (a) Cabbage (b) Carrot 

(c) Onion (d) Cauliflower 

59. Mustard Sawfly pupates in 

(a) Stem (b) Leaves 

(c) Soil (d) None of the above 

60. Which of the following is example of 
Primary minerals ' 

(a) Haematie. (b) Mica 

(c) Apatite (d) Gypsum 

61. Match List - I with List - II and choose 
the correct answer using the code given 
below the lists. 

List-I List-Il 
(Spore) (Stage) 

A. PycniospEre 1. I stage 
B. AceiospoL 2. III stage 
C. Urediospore 3. 0 stage 
D. Teliospore 4. II stage 

Code:  

I  (a)AL3,B_1,C_4,D_2 I  
(b)A-1,B-2,C-3,D-4 
(c) A-2,B-T4,C-1,D-3 
(d) A-4,B-3,C-2,D-1 

62. A mineral which is a source of calcium 
and magnesiIT , is 

J(a) Dolomiteij (b) Calcite 

(c) Biotite (d) Anorthite  

56. 
'ncfl? 
(a) it  

1(b)  
(c)  
(d) 11 

57. 1H  (&.)  

T1T? 
(a) 1973 
(c) 1975 

58. ift %T1T Ib1 '1c1 T 1 4c4c{, 

(a)  '4rIIi'11 (b) i*& 

c -i'i (d) il4 

59. W1t 31R1 ici'sfl * 

J (c) i 'i , 

(a) (b) 

(d) 

60. fiHI1fC )1.1iT 1%lf11 

çIuI * ? 
(a) J7il  
(c) ki (d) i1iH 

- i - ii 

I 

__
-II 

(iiu) (3i) 

A. 1il14l 4ti' 1. I31%1T 

B. ji1 4iiuj 2. III 311T 

C. Ji1 1ki 3. 

D. k1I41 4. II 3%lT 

(a)A-3,B-1, C-4,D-2 
(b)A-1, B-2, C-3, D-4 
(c) A-2,B-4,C-1,D-3 
(d) A-4,B-3,C-2,D-1 

62. i t f 1ii i -flF'iw. 

(b) -ii. 
(d) lj%T 

(a) 1973 
(c) 1975 

U 



63. In which year, the Co-operative Society 

Act was passed? 

[Q* (b)1900 

(c) 1912 (d)J 908 

64. Which of the following survey is used for 

Watershed and urban development? 

(a) Semi-detailed 

E1 (b) Reconnaissance 

(c) Rapid Reconnaisce 

j
(d) Detailed 

65. Hereditary material tchromosomes is 

(a) ATP (b1NA 

(c) ADP (d) DNA 

66. Which of the following is the scientific 
name of finger millet? 

(a) Panicum miliacei (L) 

1(b) Eleusine coracan 

(c) Setaria italica (IL)- 

(d) Paspalum scrobiet.atum (IL) 

67. The form of sugar present in large 

amounts in guava fruit is 

(a) Glucose (b) Sucrose 

(c) Lactose (d)Fructose ( 

68. Scientific name of Euopean honey bee is 

(a) Apis indica (b)pis dorsath 

(c) Melipen spp. J(dy: pis mellifera  

69. In India, Community Development 
Programme (1952) was launched with 
the financial assistance of 

(a) IMF (b) World Bank 

$ (c) Ford Foundaticm  1(d) RBI 

70 ICAR — Directorate of Weed Research is 
situated at 

(a) Pune 

(c) Indore (d) Solan 
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63. 1bI1 IF1 311Pi 1bi '1TThT 3T 

1T?  
(a) 1904 () 1900 
(c) 1912 (d) 1908 

64. 1iRci Ib'i ET1V1 i1 4'I i*is 

3Tt ficbI1 1ii 'iidt 

(a) 3-1+d 

(b) HIit5 i4iur 

(c) i3fl 1I11Ir1cb  p:1T 

65. U1kt' IIId 1i11.11 ' 

(a) (b)3lRt.'. 

(c) J (d) ii.iJ 

66. 1.i11Rd i I)lkT Iilq) 

RT1? 

, (a) I7cI (L) 

(b) - cilii-u 

(c) Ri2kqi ,r1I (IL) 

(d) 'niQeii )Pcwi (L) 

67. 3T 'i t,ci tchk 'i q 3Tf -uit 

'4I1I 'Il1l 

(a) k 

(c) cT1si 

68. 141 TrRt i lI14 RTi 

(a) ii (b)  

(c) 47Q1 fll7i 

69. T1 lifcb ,i4ii (1952) t 

fi 1fl-i tii1T11zIT%TT? 

(a) (b)f 

(c) 91 (d) 

70. 31t.1:.3IT:. — &'4dR 11 IIc1 

(a) fb)  

(c)  (d) ikii 

(b) 

(d) ctc1t 

1(d) ic4?4 

*13* 



(a) liq 

(brEIRT 

(c) q 

71. The physical environment of soil does 
NOT comprise of 
(a) Soil water 
(b Soilair  
(c Soil electrical conductivit 
(d Soi1 temperature 

72. Which of the following wheat disease is 
caused by Nematodes? 
(a) Ear-cockle and Flag root 

(b) Tundu and Molyá  

(c) Molya and Cup root 

(d) Ear-cockle and Mat rooZ. 

73 Which one of the followmgair is NOT 

correctly matched? 

Crops MSP 2023-24 in Rs. 

DVHJ—oi 

71. W cflc1uj iPiRici if 
(a)1'11 
(b) 1 TT  

j (c)1I klcbcll 

(d) 1f  dNb11 

72. icflit( 
tflh1lU? 

c1 

(c)  
(d)  

•'t1c1 

(a) Lentil 

(b) Gram 

(c) Urad 

J(d) Moong  

— 6,425.00 

— 5,440i€O 

— 6,95€O 

— 7,75&O0  

2023 — 24 
— 6,425.00 

— 5,440.00 

— 6,950.00 

— 7,755.001 
74. Which is the recommendecttemperature 

for the storage of ripe banana with 
humidity over 85%? 
(a) 10 to 15 degree Celsius 
(b) 5 to 10 degree Celsius 
(c) 15 to 20 degree Celsius  

j  (ci) 2 to 5 degree Celsius 4, 
75 Echinochloa frumentaceae is a scientific 

name of 
I (a) Barnyard mifiet  (b) Sghum 

(c) Fmger millet (d) Pearl millet 

76. Concept of plant idiotype was first 
propounded by 
(a) M. S. Swaminathan 
(b) Mayer and Anderson 
(c) J. D. Eastin. 

1(d) C. M. Donald I 
77. Parent material which is formed due to 

sediments deposited by flowing water 

J  (a) Det wash (b) Alluvium 
(c) Tifi (d) Lacustrine  

74. 
r  31ificT dI',11 WF1 

(a) 10151ii 
(b) 5101ii 
(c) 1520f11 
(ci) 2 5 FI.fi i1  

75. I!) 3qT3i-2R1qi ii1ict, ii 

(a) ili R1 (b) 'ui. ;T 

(c) 1l31T RT (d)  

76. ai1i 

(a) 11. 1. T4rrT1 

EM 

) (ci) ft.WI. l.ii-s.1 

77. 

iii 1l r hut lit *, ciicfl 
(a)'1r f (b) cijtiii 

(c) kci (d) qii.i 
*14* 



83. Which of the followig accurately 
represent the compolient of Bordeaux 
mixture? 
(a) Copper sulphate al sodium carbonate  
() Coer ulphate and hydrated lime I 
(c) Copper sulphate and potassium 

chloride 
(d) Calcium sulphate and hydrated lime 

*15* 

78. Rangrajan Committee is related to 

(a) Fertthzer Industries 

(b) Milk Industries 

(c) Fish Industries 

1(d) Sugar Industrie  

79. The number of stylets in female 
mosquitoes are 
a 03 (b)04 

() 08 

80. Which Agency governs the National 
Agriculture Innovatiotn Project? 

(a) International Mm1 etary  Fund 

(b) United Nations3 

J  (c) World Banks 

(d) World Trade Organization 

81. Which one of the following pairs 
(Crop — Seed rate) isNOT correctly 
matched? 
(a) Wheat (dibbling — 25-30 kg/ha 

method) 
(b) BOld seeded fle1d — 80-90 kg/ha 

1(c) Rapeseed — mustrd — 14 16 k/h f 
(d) Chickpea — 75— 100 kg/ha 

Which one of the following statements is 82. 
correct? 
(a) Azotobacters fi4trogen in soil 

symbiotically inassociation with 
legumes. 

(b) Rhizobia fix nittgen in soil 
non symbioticall 

(c) Clostridlia fix nitrogen symbiotically 
in association with legumes. 

I I (d) Blue green algae fix nitrogen in 
paddy fields under submerged 
conditions.  
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78.   il1 1TT 

(a) ckq i'i 

(b)Ti 

(c) 'i1l iIi 

(d)l4l'3 1TJ 

79.  

(a)03 (b)04 

c 06 (d) 08 

80. ii1i ¶f  .jfltll4. 4fl c4 .j-4ft Lfl' 

(a) 51 q  

(d) 11 — 75-100f/. 

82. ? 

(a) lA çi -fl T%T it& 

.iii t flcfq qtU-v 

(b) kiIlI4I -u*i 

(c) iIFi gcifl t iii icI, 

-isflil q iis*i iP bkdI I 

(d) ftr ftr 1ciii 'iW-i 1k1T115t 
I  

83. 

iqiIcii ? 
(a) *T 3Th 11IH ctii'k 

(b) cbT 311 IS RT  

(c) c,T'4'& wI 3 i'I.i 

(d) 1i'ii 1çZ 3 

(d) lc4 c1I'1R :11I&1 

81. 1.i1ifi (i—fli ) 
1idRi? 

(a) (r r1i)— 25-30fit/t 

(b)  iic'flZ — 80-901i'/%. 

(c)'cikii — 14.1 — 14-161IVj 



84. Which one of the following is NOT soil 
flora? 

(a) Fungi (b) Bacteria 
(c) Moles (d) Actiriomycetes 

85. The variable costs are also Li own as 
(a) Fixed costs 

(b) Prime costs 

(c) Supplementary costs.. 

(d) Transfer costs 

86. Match List - I with List - II and choose 
the correct answer usmg the code given 
below. 
• List - I List.]iI 

(Fruit Crops) (Family) 
A Aonlla 1 Annonaceae - 
B. Custard apple 2. Euphorbiaceae 
C. Figs 3. Moraceae 
D. Bael 4. Rutaceae 
Code: 
(a) A-4,B-1,C--3,D- 
(b) A-1,B--2,C-4,D-a1: 

(d) A-4,B-3,C_2,D_i: 

87. Which technique is usedto produce 

1(a) Cytoplasmic genetic male sterility 

(b) Genetic male sterility 

hybrid seed of paddy? 

1 
(c) Physiological incompatibility 

(d) Morphological incompatibility 

88. On the basis of climatèç:banana is 
classified as a 

(a) Subtropical fruit 

(b) Temperate fruit 

(c) Mediterranean fruit 

J  (d) Tropical fruit 

89. What is the use of coichicine in plant 
hrcdiiur'? 

1(ã) Tofevelop autopolyploidy  
(b) To develop hapfoidy 
(c) To develop allopolyploidy 
(d) None of the above  

DVHJ-oi 

84. 

( 

85. cIfli 11J11 c1)l IldI 

(a) RT iiii 

A. 31Tc1iI 

B. iUi 2. k1fl 

C.aIf1 3.1kft 

D.i 4.ft 

(a) A-4,B-1,C-3,D-2 
(b) A-1,B-2,C-4,D--3  

1(c) A-2,B-i,C-3.D-4 I  
(d)A-4,B-3,C-2,D_1 

87. c11t T cbk cil.j-ft lcb.flcb 

r  i.'iii 1ii 'iidt ?  

1(a) q io4)i 3I.icITT l-t'clI  

(b) R -ii 
(c) i4c 3IT 

(d) ai I cg 1  

88. \*ic1I 3T.1R   t Phi q ciiffci 
T 1TT? 

(a) 1tui  lftr i 
(Ij) 
(c)  

)(d)  I 
89.  -H 34'*11 cuIclkfl.1 T  1T I1T 

(a) cijicit c-1 ct*11  

(b) c'-fr1 *1I 
(c) IIdl c+-1 b1I 

(d) q).ii 

4i 

(b) tJ1k'.ii 
(d) èlflç l 

(c) jc tl1Ict 

(d) %iIsI.-ctkut 1IId 

86. 

ft-I_ 

tqi) () 
1. L -Ifl 
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(b) (a) 

- 

(c) (d) 

93.  

(a)RTFiii.fl - fl 

(b) ii  

90. Triticale is a cross between. 

(a) Oat x Barley (b) Wheatx Barley 

J (c)  Wheat X Rye 1(d)  Rice >1arley 

91. Which one of the following  p:ajis  is NOT 
correctly matched?  
(ia) Stem nodule - Sunhemp I 

- (b) Rhizobium spp. - Nodulatmg 
(c) Azolla - Anabaena 
(d) Azotobacter - Non-smbiotjc 

92. Which of the following isa rooting 

93. Which of the following pairs is NOT 
correctly matched? 

(a) Pusa Himani - Radish 

(b) Pusa Kesar - Carrot1 

c Pusa Sheetall - Cucumber  

(d) PusaJyoti - Palak 

94. According to Central Researcil Institute 
for Dryland Agriculture (CRIDA), 
Hyderabad shallow ploughing was 
classified at a depth of 

(b) 2-3cm 

) 15-20 cm (d 9-10cm 

95. Who has developed Digital Mndi 
Application in agriculture 

(a) ITT. Mumhui 

: (b) lIT, Delhi and JIO 

(c) lIT, Kanpur and BSNL  
(d) None of these 

96. Which of the following method of irrigation 
have high water use efficiency? 

1 (a) Drip irrigation ( 
(b) Sprinider irrigation 

(c) Check basin irrigation 

(d) Flood irrigation 

DVHJ—Oi 

90. f11~ ,ci  flci i iui i 

(a)x (b)xft 

(d) %TFI x 

91. icif? 
1(a) riif -  

(b) ,I'i tJ7./7j - 1i3 SMI 1I 

(c) 1)c1I - 

(d) )ct - 3l1flcfl 

92. fi-iriRci - 4i—i i i.i 1.i ? 

j (c) 1 Tflcic.i - 'sflI L 

94. 

(d) ii 411 - 

ki ft iiT is fl-ci 

3R Tft 
cIl t 1lF1c?1 irr 

(b) 2-3. 
(d) 9-10ft. 

TiT%1TI 

95. 

(c) 15-20.1fI'. 

•i ¶)1 b11 rbrd 

(a) 3T.3TF&t ., 

(b) 3T&31it 
(c) ajt., 3 

96. 

(d) Rit 

(a) 4-5 14TqT b 1i 
(b) I11T 

(c) rs'i 

(d)  

hormone? 

(a) NAA 

(c) TIBA 

* 17* 



(b) Avena sativa (a) Avena cerealis 

(c) Avena vulgaris J (d) Avençi fatua 

99. Where and when was ICAR- Central 

(c) Pedology 

(b) Thrips  

J d) Whitfiy 

103. A branch of science that deds with the 
study of ogin of the soil, its lassiflcation 
and description is known as':: 

(a) Ecology (b) Edaphology 

(d) Geology 

(c) '.çcII lkI J(d) &ik iq.)  

(b) citI1 

(d) -1ii.i 

103. ItH t iii t ft 
1JfIhkUI 31 IicRUT i t1i 

Tft 

(a)  
(c) ci1fl  

97. STCR (Soil Test Crop Respons Approach 
is propounded by 

(a) Govindaswami 

(b) Kothandaram 

J  (c) Ramà Móorthy f 
(d) Schokolaski 

98. What is the scientific name of wild oat? 

Soil and Water Conservatio  Research 

apd Training Institute established? 

(a) Deharadun, 1975 
( 

(b) Kolkata, 1975 

(c) Jodhpur, 1975 

(d) Delhi, 1975 
r.. 

100. Which one of the following pairs is 
NOT correctly matched withfiuit crops 
variety 9  

EI (a) Mango — Bombay Green 
(b) Aonla Francis 
(c) Paaya — Arka Surya 

1(d) Banana — Red Lady  

101. A short duration crop in be1Jween main 

crop is termed as 

(a) Catch crop 

(b) Mixed crop 

(c) Inter crop 

(d) Cash crop 

DVHJ—Oi 

97. Tt.4t3IR. 3WTT MIIId 

(a) 1qlcw.Fl 

(b) vlsiv.i 

(d) ii.cgl 

98. 11&iiTlT? 

(a) 3TT !u.i (b) 3T *i/qj 

(c) 3TTgc'')1.i 

101. 

1(a)   (311T1 1c1)  

(b) 1ct Ti (fm i ci) 

-. (c) l -i ('M1t) 

(d) i tT ici) 

102. b1Ri 1 41n 1Hl-fftE ft 

(a) 1 111k1 (b) ftiqI iu 

102,, Leaf curl disease of cotton is transmitted 
by 
(a) Aphid 
(c) Hopper 

*18* 

J(d) 3T3T 



1' f (a) ir 

(d) sii 50 

(b)31tT5Er 

(d)  

- 200 4l.k 

- 34lck 

- 30 ifz;l: 

(c) 

104. Consider the following events and arrange 
them in correct chronological order of 
metamorphosis in butterfly, starting from 
the earliest to the last activity: 

I. Metamorphosis 

II. Larva 

III. Imago 

IV. Pupa 

Select the correct answer from the code 
given below. 

Code: 
(a) I, III, II, IV 

(b) III, II, I\T, I 

(c) II, I, III, I\T 

(d) I, II, IV, III J 

105. Which of the following is the major 

Basmati rice producing State? 

(a) Uttar Pradesh (b) Andhra Pradesh 

(c) Kerala (d) &de of these 

106. Size of particle consider soil colloides 

(a) <0.O01mm 

(b) > 0.001 mm 

(c) <0.0001 mm 

(d) 0.001 mm 

107 In reference to minimumisolation 
distance for certified seed production, 
which pair is NOT correctly matched ' 
(a) Okra - 200 metre 
(b) Rice - 3 metre 
(c) Hybrid Cotton - 30 metre 

- 50:.metre 

108 Based on the criteria of homogeneity, the 

agroc]imatic zone of Indiai divided in to 

(d) 
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104. Iciii4t -1R11sK1 .1.-iI3it I1't1R 1fEL 

%1T l 1jJ-1 11ii, '11 

Içf c1: 

I. ''9I-cRI 

II. c1Ic1I 

III. * 

1  T c rt4. 11'1 I 

J(d) I, II, IV, III 

105. rri   iflici 

3c.1I4cb * ? 

108. 1'1Icfl1 11ci.ui lI 1r 'fi 
? 

(a)14 I  (b) 15  

(c) 13 (d) 16 

(a)'14 

(c) 13 
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(b)1 

(c)1f (d)'12 

112. 91 fii 

   

   

(a) 1967k 

1(c) 1969i 

(b) 1966 

(d) 1968 

 

113. Hrd q1—T14 (i_tfl)) 

(a) flf 

(b) ifi 

— .SI 4.Iu. cb 

T11 

     

- 

    

109. Amrapali is a hybrid variety obtained 
from crossing of 

(a) Neelam with Langra 

(b) Dashehari with Dashehari 

(c) Dashehari with Neelani  

DVHJ—oi. 

109. aiifl Ib1 bT'TI-I cb(iI*? 

(a) 1%1isi 

(b)  

1(c) I 1%lfi 9Ir1 
(d) Chusa with Langra 

110. Consider the following fact regarding 

Kisan Credit Card (KCC) Scheme: 

1. Kisan Credit Card Scheme was 
introduced in 1998. 

2. Kisan Credit Card Scheme provides 

timely credit to meet short term! 

long term cultivation requirement, 

post harvestexpenses. 

Select the correct answer from code given 
below. 

Code 

(a) Both 1 and 21  (b) Only 1 

(c) Neither 1 nor 2 (d) Only 2 

111. Golden yellow colour tag is:jsed for which 

class of seed? 

J (aj Bieder seed J 
(b) Nucleus seed N 
(c) Certified seed 

(d) Foundation seed 

111. ii '.flii rrr fii 

r1 '1Icl1 ? 

J 
(a)  

(b) Ru fl\t 

(c) 1 1 IrUici fli 

(d) 3TFT1 fl\1 

112. Seed Act was enforced Ifràighout 
India in 
(a) 1967 

113. Which of the following pairs. (crop — pest) 

(b) 1966 
(d) 1968 

is correctly matched? 

(a) Paddy — Diamond backmoth 

(b) Cauliflower — Gandhi bug 

ango — Mealy bug f  
(d) Wheat — Pod borer 
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(d) CCC — Increase draught 
resistance. 

115 Which factor is used to convert orgamc 
carbon to organic matter ? 

(a) T. K. Bose 
(c) K. L. Chadha (d) M. Sandhawa 

114. Which of the following pairs is NOT 
correctly matched? 

(a) NAA — hffiuencéfowering 

(b) GA3 — Encourage seedling 

c) Cyiokiniii Decrease cell 
division 

(a) 1.074 

(c) 1.742 

116. The first viral disease of plant was 
reported by 
(a) M. W. Beijerinck 

0 (b) doIfMayeJ 
(c) Stanley 
(d) Fraenkel Conrat 

117 In humus, the highest percntage is of 

(a) Oxygen 

(c) Hydrogen 

118. Beautiful Garden book is written by 

119 The tendency of two or more gene to stay 

together during inheritanceijs known as 

(b) Chromosomal aberration 

(c) Multiple alleles 

(d) Recombination 

120. In which year ICRISAT wasëstablished? 

(a) October 11, 1982 

(c) June 11, 1972 

(d) October 21, 1972 
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114.  

(a) NAA — lIdI 

(b)GA3 _tT R 

JI . lcitIc1cb4,lI* 

(c) lcbIIH — +)IIb  fflRF5FF 1.ldl 

(d) CCC — T ii TT IdI 

115. ib1 bRb T 5Tu1'T  cbI i't Ib 

111c1 ,k ffUjf\lR1L ? 

(a) 1.074 (b) 1.724 

(c) 1.742 (d) 1.173 

116. iit 1N iiu 1Ti 1ti cii4i ? 

(a) 11. s. 

(b) ciet4i % 

(b) ui T 3 

(c)1id tflI 

(d) fcti-4li.i 

120. 3dI bW1 

(a) t*& 11, 1982 

(c) 'i  11, 1972 

(d) 3ict4 21, 1972 

I 
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)(b) 1.724:f 

(d) 1.17 

(d) Nitrogen 

V. Swaru 
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